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INSTRUCTIONS AND INFORMATION
. This question paper consists of FIVE guestions. Answer ALL the questions.
2. Usethe ANNEXURES in the ADDENDUM 1o answer the following questions:

ANNEXURE A for QUESTION 3.1.
ANNEXURE QUESTION 3.2.
ANNEXURE QUESTION 5.1.

3 Number the a s correctly according to the numbering system used in this question
paper.

4 Start EACH question on a NEW page.

n

You may use an approved calculator (non-programmable and non-graphical), unless stated
otherwise.

6. Show ALL calculations clearly.

Round off ALL final answers appropriately according to the given context, unless stated
otherwise.

~

8. Indicate units of measurement, where applicable.
9. Diagrams are NOT nccessarily drawn to scale, unless stated otherwise.

10, Write neatly and legibly.

Copynight reserved Please wrn over
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11| Mrs. T Ngomane is a Geography teacher at Walter Combined School. She received her
salary advice.
SALARY A CE FOR MRS T NGOMANE
Surname ials Organisation Pay point
| Ngomane. Walter Combined School 1065/23 B
Identity & er Job title | Appointment date
6806280198084 Teacher 1999/01/01
Tax number | Medical tax credits ] Pension number Salary notch J
17238723 620,00 | 129873 440 628,00
I;ay_dat_e ] Dcpu«u? | Accountnr | Gross qnlarv [ Deductions 1Nett qalarvj
12023/04/22 | institution | 12495324 | 37619.00 | 1379140 | 23827.60
_ IABSA SN NN BN BN | |
EARNINGS ~ |DEDUCTIONS |
.IlemT Descnptmn Amount | Ttem |  Description | Amount
| 0001 | Basicsalary 3 7[90(1 0001 | TAXRSA | B780.74
0003 ' Housing allowance 900,00 | ()QQZ_ GEPF [ 275392
- riYﬁL**ﬁ 0005 |GEMS .1 213100
T B | 0192 |[SACE ]6.5(%
I | 0192 | Union | 109,24 |
[Adapted from Department Education Sal: iy advice]

Use the information above to answer the questions that follow,

}.1.2
I3
1.1.4

Write down Mrs. Ngomane's tax number.
Define the term nett salary in the given context.

Show how the amount of R13 791 .40 was calculated.

Calculate the amount she transfers every month.

Copyright reserved

Mrs. Ngomane transfers 4,5% of her nett salary into a savings account.

Show how the salary notch amount of R440 628,00 was calculated.

Please urn over
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2 Caves are found all around the world,
longest known caves in the world.

TABLE | below shows data of the TOP 10

TABLE 1: THE TOP 10 P 10 LONGEST CAVES IN THE WORLD.

Wind cave

WHERE IS IT FOUND |
CAVE NAME r LG CaastE) |
- ) .l (in kilometres) (City, Cou _
Jewel ¢ 3455 South Dakota, Umled Slaic_s‘i_' |
Shuang g cave T - ’%ﬁr o Guizhou, Chmd___ -
FishcrY _2I2_.l o Iantuck , United States
B #@Vcave 2120 4____}47___._____ -
Lechuguilla cave 2420 New Mexico, United States - - |
Mammoth cave 686,6 ‘ Kcmucky United Stale% - 7|
Sistema ox bel ha cave i 318,0 Quintana Roo, Mc:uco
Oplynmlychna cave ! 264.5 Korolivka, Ukmmr.
Sistema sac actun cave f 376,7 Qumtana Roo Mt.xu.n
lEIearwalcr cave B 2380 Sarawak, Maldysm
760,2 f Soulh Dakota, United States -

[Adapted from very mlcrcstmg Junior magazine, Nov 2022, Issuc #49]

Use TABLE | above to answer the questions that follow.

).2:1

122

cayce.

lo the length of the Lechuguilla cave

Copyright reserved

State whether the lengths of the caves are discrete or continuous data.

Identify the cave in the table with the shortest length.

Arrange, in ascending order, the lengths of the caves.

Calculate the difference between the length of the Jewel cave and the Wind

Write down the ratio (in s;mphﬁed form) of the Icnt-lh of the Clearwater cave

How many of these top 10 longest caves are found in the United States?

Please wn over
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1.3 Cassandra is hosting a function at her house.
She found great specials at her local supermarket.
TABLE 2 shows the specials ol all the items that she bought and their respective prices.
T E 2: PRICES OF ITEMS THAT WERE ON SPECIAL
_ITEM _ SPECIAL |
SAVE RI2 |
ca-Cola 4 x 1.5 litre BUY 4 for \
R60 ‘
- . SAVE R30
Lancewood Gouda Cheese R99.99 for
000g
SAVE 20%
Lay’s Potato Chips Any 2 for
R35
. {
Whole chicken R59.99 per kg
2 x1lire ULTRAMEL | SAVERIS
Vanilla flavoured custard Wy <X
' R48
[Adapted Irom w ww.checkers.com|

Use TABLE 2 above to answer the questions that follow.

.31 Calculate the original price of the Lancewood Gouda Cheese. (2)

1.3.2  Determine how much Cassandra paid for one 1,5 litre Coca-Cola original. (2)
|33 Cassandra bought a 1,25 kg chicken.
Calculate the amount that she paid for the chicken. (2)

.34 Cassandra bought four | litre Ultra Mel vanilla flavo custard boxes.

Determine what she paid for them. (2)

[30]
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Th-. Mnkncna family

consisting of{two adults. age

45 and 48

and | §I and
own,

The aquarium ha an afte
after 15:()

TABLE ow indicates

d(gnmdmolhcr aged 72)pldnm.d tov

r 15:00 special where you get discounted prices if you enter

the entrance fees a1 normal and discounted prices.

TABI LE 3: THE TWO VO OCEANS ANS AQUARIU

hree children a aged 3,7 ]
isit the Two Oceans .-\.quarlum in Cape

MDE/September 20121

RIUM ENTRANCE CEFEES o
_TWO OCEANS / AQUARIUM —
,r" - Age gn;uf: Normal price Discount price
(Enter before 15: 15:00) | (Enter after 15:00)
Aduls T _R220 _ RI6S
LChlldrcn 14- l?)&m | RI6S 1 RIS -
 Pensioners (o] (older than 65\car\) | ~RI6S —+{ RIS
 Children 413 13 years _RIos __R&0
[Chl]dren en under 4 \Lilﬁ 7 __i ) Fru, . FI'LL
lAddplnd from | ht

Ips:wwy .4 uanum uu

#All prices are 15%

VAT inclusive,

Use TABLE 3 and the information above 10 answe

2.1.1 Calculate the amount of VAT payable on an adult's normg] price ticket
2.1.2 The family decided 1o visit the aquarium afler 15:00 insteaq of before 15:00, in
order to save money,
(@) Determine (he Aamount the family woyq have saved, o the total cogt of the
tickets,
(b)  Determine the percentage the lamily woug Save if (hey visited the
Aquarium afier |5 :00. )
2,13

Provide a reason Why pensioners often pay Jegs than adus

Copyrighy s

tved
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John Mokoena wants to buy a second han
ya: and Volkswagen Am - :
advertisement. narok. He found the following

SPECIAL DEAL!!!
2021 VOLKSWAGEN
An‘ultbk

Now: /R641 900
(md 15% VAT)

2021 VOLKSWAGEN Amarok 2.0 Bltdl _ghhne - lnstalment Optlun

" Monthly | Total |

" Interest |  Vehicle } a
(L Months | — o ‘ price [)epnmt‘ meﬂm% ‘payment

T 10% | R641900 1% \ 57265.60 | RI1900 |  ***

*Resldual is an amount that must be pznd at the end of the term after all the monthly

payments have been made.

[Adapted from webuycars.co.za)

Use the information above to answer the questions that follow.

22,1  Write down the cash price of the 2021 Volkswagen Amarok.

522 Calculate the amount of deposit needed.

223  Determine the total payment on the 2021 Volkswagen Amarok.

224  Determine the difference between the cash option and the instalment option.

22,5  What method of payment is the best fo
least amount of money after 72 months?

Explain your answer.

Please turn over

r John to choose if he wanis 10 pay the
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QUESTION 3

- - PSP n their watches that calculates the
3.1 [ Mica and her brother Sheldon have an application o . Instaor:
number of steps they take every day. They pos
. e — 15 December 2022, The
ANNEXURE&ARhows the weekly report for 9 Deumllz:r e,
application difféfentiates between steps where you walk or '
1003 -
Use the gmg. ANNEXURE A 10 answer the questions that follow.
- : b o 7
3.1.1 On which day did Mica have the third highest step count” (2)
- - "
3.12 Caleulate A, the steps that Mica took on the 15" of December 2022, (3)
3.1.3 Determine B, the daily average steps that Sheldon took @_l_ifing this week.
Round off your answer to the nearest whole number, (5)
314 The weekly report stated that Mica climbed 5% less than Sheldon,
Calculate the number of steps Mica climbed during the week. (3)
3.1.5 Mica stated that the steps she took on the 10" and 11" of December were more
than 35% of the total steps for the week.
Verify, showing ALL calculations, whether her statement is valid. (5)
3.2 | Instagram is a social media platform used worldwide.
Data published in the platform's self-service advertising tools shows the ten countries
with the most Instagram users for 2022,
ANNEXURE B shows the following graphs:
® The data for the six countries with the most Instagram users. (Name of Country;
number of users).
* The percentage (%) of Instagram users in India, for 2021 divided into age groups
and male or female groups.
Use the graphs on ANNEXURE B L0 answer the questions that follow,
3.2.1 Write down, in words, the number of Instagram users, in Bezil, for 2022 (2)
T 1 e TCENaon . kT N )
3.2.2 L)ua'rnunct as a pereentage, the probability of randomly ung an Instagram
user in India in 2022, younger than 25 years. (2)
323 Calculate the percentage female Instagram users in India, in the age group
35 - 44 years, (3)
5] ] P . ; . —r T y 5. 4
3.24 Determine the number of male Instagram users in India, in the age group
18 - 24 years. *
Round off your answer Lo the nearesy hundreq thousand. (4
[29]

Copyright reserved
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QUESTION 4

4.1

The most expensive private day schools in South Africa is listed below. TABLE 4
provides information on the school fees (per leamner, per year) of these schools for
2022 and 2023.

TABLE 4: THEMOST EXPENSIVE PRIVATE DAY SCHOOLS IN SOUTH

IRICA FOR 2023

- SCHOOL FEES N

NAME OF 5G] GHOOL 2022 2023 | Increase | % Increase |
| (Rand) [ (Rand) | (Rand) | (2022102023)

Roedean School 176 7{14 191 181 14977 | 8.5 |
St Mary's School 163550 | 176640 | 13090 | — 80
_Reddam Waterfall Jﬁm 495 | 175051 '*13 556 L 7
l{m& David High School | B | (174360 |~ - | - |
“Kearsney College  ~— | 200 000 | 224620 | 15620 | 75 |
‘Stlohn'sCollege  — | 179000 | 194 148 ‘ 15148 | 85 |
BnhullDlmuaan (.ullcu. 170520 !_ 185020 |« 14500 | BS
Crawford College _f"’f“’lﬁ-‘l 470 | 178000 | - | C ]
Clifton College | 163398 | 175697 | 12299 | 7.5 |

=' I

l.ﬁ.dupled from huips: lfwww Businessins isider.co.za|

Use TABLE 4 above to answer the questions that follow.

4.1.1 Dina's two daughters are in Kearsney College and her son is in St John's
College.
How much more school fees is she paying for them in 2023 than in 20227

4.1.2  Determine the median of the 2023 school fees for these schools.

4.1.3  The mean total school fees for 2022 is R172 093,
Calculate B, the value of the school fees of King David High School.

4.1.4  Determine the probability, as a percentage, of randomly selecting a school
from the list whose school fees for 2023 was less than R178 000.

4.1.5  Calculate value C, the percentage increase of Crawford College schogl fees

from 2022 to 2023, Round your answer Lo one decimal.

The following formula may be used.

School fees for 2023 - School fees for 2022

" - 0
% Increase School fees for 2022 o

4.1.6  Determine what the school fees of St Mary's School would be for 2024, if the
percentage increase 15 7.5%,

Copynght reserved Please tum over
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4. 1.7 Diego wanted 1o save money to enrol his son in Crawford College. Sandion,

le invested RT30 000) for gie yead and @ine_months) in a fixed deposit
—— st rate Af L) S0
aCTount with an annually compounded interest rate of 9,55%.

¢ stated that he would have sufficient funds, after one year and nine
- " . ~ = + f el
mths, to enrol his son in Crawford College Sandton in 2023,

Verify, showing ALL calculations, whether this statement is CORRECT.

(2)

i6)

4.2 | Thato and her friend are planning to visit Weltevrede Lion Farm during their school
holiday.
The return trip distance between Nelspruit and Heilbron is 944 km.

TABLE 5 shows the rates for Alama car rental and Enterprise car rental,

TABLE 5: FEES FOR CAR RENTAL COMPANIES

ALAMA | ENTERPRISE
| CAR RENTAL CAR RENTAL
| =N
SN
\ - (o) O
_BOOKING DEPOSIT R2000 | " Nome |
JYREEKILOMETRES |  200km |  None )
TARIFF | R5.06 perkm | __R6.15 perkm

[ajupmd fi nﬁu w.Henz.co.za|

Use TABLE 5 and the information above to answer the questions that follow.

4.2.1  The formula below is used to calculate the cost of Enterprise car rental.
Cost (R) = 6,15 x d, where d = number of kilometres travelled
Provide the formula to calculate the cost of Alama car rental,

122 Thato decided to use LEnterprise car rental,

Venly, showing ALL calculations, whether her choice is 108!
cconomical

Copy ripht rescrved Please turm o |
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QUESTION 5

Soccer is being played worldwide and fans are following their favourite soccer
players on Instagram.

TABLE 6 on ANNEXURE C shows the top 10 highest paid soccer players, for 2022,
in the world.

]

Use TABL n ANNEXURE C to answer the questions that follow.

5.1.1

\ own the name of the team for which the youngest player on the list is
playing. 2)

Determine the probability, as a decimal, of randomly selecting a soccer
player from the top 10 list who is older than 30 years. (3)

Calculate the inter-quartile range for the Instagram followers of the soccer
players.

Round off your answer to the nearest million.

You may use the following formula:

Inter-quartile range = Quartile 3 — Quartile 1 (6)
Determine (in South African rand) Neymar Jr's ON FIELD salary for 2022

TABLE 7 shows the exchange rate for five countries on 24 May 2023.

TABLE 7: EXCHANGE RATE FOR FIVE COUNTRIES ON

24 MAY 2023 -
" CURRENCY | UNITSPERZAR R | ZARPERUNITS |

0042007 | 23805798

British pu[ﬂ{ - 7 ]
Canadian dollar - I B (JU'FII(}O" e 7Ia4_._lﬁh3‘)(_!2
N | 0048304 | 20702018
0051947 19250546 |

T 720478 | 0138112
N . | Ad lph.d Irnmh_f:\ [www y-rates.com|

Louro. B | B
USdollar
Jupanese Yen

(3

Please turn over
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)
= | Jimmy is 2 66-year-old entreprencur, carns an annual taxable income of R627 010.
Jimmy's spouse is on his medical and.

TABLE 8 indicates the tax tables for the 2022/2023 tax year.

TABLE 8: TAX RATES FOR THE 20222023
TAXAB

INC( U\IF (R) RA’ I‘Lb Ol" TAX IRr

| 1-226( - 18% of taxable income
ot I 33@'[!”__ 3100 ljt)-:‘ahll +26% of taxable income above 226 000

| 353 101 8700 73726+ 31% of l.n.:hl; income above 353 100
48870 1400 115762 + 36% of taxable income above 4 488 700
641401 - 817600 170 734 + 39% of taxable income above 641 400
817 fvﬂl 1 "Hl 600 - [ 73‘] 452 + 41% of ta.\.]hlc income above HI? 600
1731 601 and ab ahnv ()I-l 192 + 45% nl‘mxdhl:. ncome above 1 ’?’*I 600

ANNUAL TAX REBATES ) o o

‘ _ AGE N AMOUNT (R)
Primary 77_ - I 16 425

 Sccondary (65 years and older) 9000 .

- Tertiary (75 years and older) i i 2997 ‘

MEDICAL AID TAX CREDITS S

- ~ CRITERIA \MOU‘GT I' PER ‘\!(WTI{ (R}
_For the taxpayer ‘L Ll -
fur -or the taxpayer and one dependant 694 B
Pnr cach additional dependan _ 2

[Adapted from ww W.sars gov.zatax-rates |

1
|
!

Use TABLE 8 and the information above 1o answer the questions that follow,

521 Define the term annual tax rebates in the given context.

522 Venfy. showing ALL calculations. that limmy’s tax that he pays per month is

more than R11 000,

523 Explain why citizens who are 75 years and older pay less tax than citizens
younger than 75 years, even though they carn the same taxable income.

5.24 Jimmy's annual gross salary of R677 848,65 increased by 5.8% in 2022,
Calculate s gross salary in 2021, hefore the increase.

TOTAL:

Cnp\ﬂ{.‘hl reserved

(5

(2

{2)

28]

150
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GRADE / GRAAD 12

MATHEMATICAL LITERACY P1/

WISKUNDIGE GELETTERDHEID V1
SEPTEMBER 2023

MARKING GUIDELINES / NASIENRIGLYNE

Symbol/Kode Explanation / Verduideliking
M Method/Metode
MA Method with Accuracy/Metode met akkuraatheid
CA Consistent Accuracy/ Volgehoue akkuraatheid
Accuracy/dkkuraatheid
Conversion/Herleiding
Simplification/ Vereenvoudiging
Reading from the table/graph/map/diagram/document
Lees vanaf tabel/grafiek/kaart/diagram/dokument
Correct substitution in a formula/Korrekte vervanging in ‘n formule
Opinion/Explanation/Opinie/Verduideliking
Penalty e.g. for no units, incorrect rounding off, etc
Penalisasie, bv. Vir geen eenhede, verkeerde afronding, ens.
Rounding oft/Afronding
No penalty for rounding/Geen penalisasie vir afronding nie
Answer only/Slegs antwoord
Method with constant accuracy/Metode met volgehoue akkuraatheid

These marking guidelines consist of 13 pages.

Hierdie nasienriglyne bestaan uit 13 bladsye.

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai om asseblief
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NSC/NSS/Marking guidelines/Nasienriglyne

NOTE:

* Ifacandidate answers a question TWICE, only mark the FIRST attempt.

*  Ifacandidate has crossed out (cancelled) an attempt to a question and NOT redone the solution,
mark the crossed out (cancelled) version.

+  Consistent accuracy (CA) applies in ALL aspects of the marking guidelines; however it stops at the
second calculafionzerror.

+  If the candidate presents any extra solution when reading from a graph, table, layout plan and map,
then penalise [forevery extra item presented.

*  Rounding is atrmdependent mark.

*  General principle’of marking, if the candidate makes one mistake he loses one mark.

* A conclusion mark can only be given if relevant calculations precedes it.

LET WEL:

*  As 'n kandidaat 'n vraag TWEE KEER beantwoord, sien slegs die EERSTE poging na.

* As 'n kandidaat 'n antwoord van 'n vraag doodirek (kanselleer) en nie oordoen nie, sien die
doodgetrekte (gekanselleerde) poging na.

*  Volgehoue akkuraatheid (CA) word in ALLE aspekte van die nasienriglyne toegepas; dit hou egter op
by die tweede berekeningsfout.

*  Wanneer 'n kandidaat aflesings vanaf 'n grafiek, tabel, uitlegplan en kaart geneem en ekstra antwoorde
gee, penaliseer vir elke ekstra item.

«  Afronding tel as 'n afsonderlike punt.

*  Die algemene beginsel van merk as 'n leerder een fout maak verloor hy een punt.

*  'n Gevolgtrekkingspunt kan slegs gegee word indien relevante berekeninge dit voorgaan.

QUESTION/VRAAG 1 [30 MARKS/PUNTE)] ANSWER ONLY FULL MARKS
Qv Solution/Oplossing Explanation/Verduideliking T/L
F
1.1.1 17238723 v ¥RT 2RT correct month L1
2) | E
| VYA F
1.1.2 Total income that Mrs T Ngomane received per L1
month after all the deduction were made. / Totale | 2A correct definition E
inkomste wat mev T Ngomane per maand ontvang
het nadat al die aftrekkings gemaak is. (2)
F
1.1.3 Total deduction / Totale aftrekkings L1
vRT IRT correct values E
=R8 780,74 + R2 753,92 + R2 131,00 +R16,50 +
R109, 24 vM 1M adding
=R13 791,40
(2)
F
1.1.4 % x R23 827,60 ¥MA IMA multiplying by 4,5% L1
! E
~R1072.24 VA 1A simplification
2
F
1.1.5 Total notch amount / Totale salariskerfbedrag L1
vRT IRT correct value E
=R36 719 x 12 vMA IMA multiplying by 12
=R440 628
2

Copyright reserved/Kopiereg voorbehou Please turn over/Blaai asseblief om
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Qv Solution/Oplossing Explanation/Verduideliking | T/L
D
1.2.1 Continuous / Kontinue v v'A 2A correct classification L1
(2) |E
D
1.2.2 Fisher ridgé'cave / Fisher ridge grot ¥V RT 2RT correct cave L1
(2) |E
D
1.2.3 Ascendingorder / Stygende volgorde L1
vRT IRT correct values E
212.1; 238,0; 242,0; 260,2; 264,5; 311,5; 318,0;
345,5; 376,7; 686,6 v A 1MA ascending order
2)
D
1.2.4 Difference / Verskil L1
E
=345,5-260,2 vMA IMA subtracting correct
values
=853km vA 1A simplification
(2)
D
1.2.5 238,0:242,0 vRT IRT correct values in correct L1
order M
119 : 121 vCA 1CA simplification
2)
D
1.2.6 5vVA 2A correct number L1
2) |E
F
1.3.1 Original Price / Qorspronklike prys L1
E
=R99,99 + R30 vMA IMA adding correct values
=R129,99 VA 1A simplification
2)
F
1.3.2 Unit price / Eenheidsprys L1
E
=R60+4 vMA IMA dividing R60 by 4
=RI5 vA 1A simplification
2)
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F
1.3.3 Price of one chicken / Prys van een hoender L1
E
=1,25 kg X R59,99 MA IMA multiplying with 1,25 kg
T“ Ql, 1A simplification
= R74,997R75,00 v A NPR
i @
= F
1.3.4 Price of custard / Prys van via L1
E
=R48 x2 YMA IMA multiplying R48 by 2
=R96 YA 1A simplification
@)
[30]
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QUESTION / VRAAG 2 [28 MARKS / PUNTE]

Q/V | Solution/Oplossing Explanation/Verduideliking | T/L
F
211 R220 \ra IMA divide correct value by | L2
1,15 115 M
=R191,30 -¥CA ICA calculating price excl.
VAT
VAT / BTW=R220-R191,30
=R28,70 vCA 1CA total VAT
OR OR
vRT s IRT correct value
R220 x e M is
IM multiply by T
_ v
R28,70 VCA ICA total VAT
OR OR
IMA multiply correct value by
VAT / BTW = R220 — 220 x % ¥MA 100
115 115
1CA calculating price excl.
= _ vCA gp
R220-R191,30 VAT
_R2870 vCA 1CA total VAT
’ 3)
F
2.1.2a | Before / Voor 15:00: IMA all three correct values L3
vMA vRT IRT three correct tariffs D

2xR220 = R440
2xR165 = R330
I1xR105= R105

Total = R875 vCA

After / Na 15:00:

vRT
2 X R165 = R330
2 X R125 = R250
1xR80 = R 80
Total/Totaal = R660 ¥ CA

vMCA
Discount amount/Afslag bedrag = R875 — R660
=R215 vCA

ICA correct total

IRT three correct tariffs

1CA correct total

IMCA subtracting values
1CA simplification

(7)
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Q/V | Solution/Oplossing Explanation/Verduideliking | T/L
F
2.1.2b vCA 1CA correct fraction L2
% Saving / %Besparing = BL X100 M M
R875 IM multiplying by 100
=24,6% vCA 1CA correct % saving
3)
F
2.1.3 | Pensioners often live on grants/pension only; thus v'v'O | 20 Reason L4
lower rates allow them to afford more things in life. / M
Pensioenarisse leef dikwels slegs van toelaes/pensioen;
laer tariewe laat dus toe dat hulle meer dinge in die
lewe kan bekostig.
(2)
F
2.2.1 | R641 900 vvRT 2RT cash price L1
E
(2)
VA F
11 1 A correct percentage
222 100 xR641 900 vM IM multiplying by cash price Iél
=R70 609 vCA 1CA deposit
3)
CA from Question 2.2.2 F
2.2.3 vMCA vMA L3
M IMCA adding deposit M
Total = R70 609 + (R11 900 x72) + R57 265,60 (e Iep
o ( ) IMA multiplying 11900 by 72
=R70 609 + R856 800 + R57 265,60 IM adding residual
CA from Question 2.2.3 F
2.2.4 | Difference / Verskil L2
E
= R984 674,60 — R641 900 ¥ MA IMA subtracting cash price
=R342 774,60 vCA 1A difference
2
VA F
2.2.5 | Cash payment / Kontant betaling 1A correct payment option L4
¢ No interest will be paid. / Geen rente word M
10 correct reason
betaal vO
OR/OF
e No residual payment will be paid. / Geen res- )
waarde word betaal nie.
[28]
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Only penalize once for omitting thousands

Qv Solution/Oplossing Explanation/Verduideliking T/L
D
3.1.1 12/12 OR 12 December v vRT 2RT correct day LI
(2) | E
IRT correct values b
3.1.2 A=133 514+ (16423 +24 319 + 22 248 + 20 344 + L1
17 042 £19604) YRT M
— 133514 — 120 070 ¥M I M subtracting correct values
=13444 vCA 1CA correct value
vRT OR vM OR
A=133514-16423 -24319-22 248 -20 344 - IRT correct values
17042 - 19 694 I M subtracting correct values
=13 444 vCA 1CA correct value
3)
D
3.13 Total steps / Totale treé = vMA L3
18234+18692+21549+19328+23190+26138+13189 | IMA adding correct values M
=140320 YCA 1CA total steps
Daily average / Daaglikse gemiddeld IMCA dividing total by 7
_ 140320
7 MCA 1CA correct average
=20045,7 vCA IR correct rounding
~ 20 046 vR (5)
D
3.14 9% - 5% L2
=4% vMA IMA calculating 4% E
2 x133514 YMA
100 IMA multiplying correct value
v
=5 340,56 CA 1CA total steps
(€)
D
3.1.5 24 319 + 22 248 vMA IMA adding correct values L4
— 46567 vCA 1CA correct total D
46 567 % VM IM concept ofpercentage
133514

=34,88% Y CA
No, her statement 1s not valid.v'O
Nee, haar stelling is nie geldig nie.

1CA correct®4

10 verification

()
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Qv Solution/Oplossing Explanation/Verduideliking | T/L
D
3.2.1 One hundred and nineteen million six hundredv'Y'A | 2A correct words L1
thousand / Een honderd en negentien miljoen M
seshonderd-duisend. (2)
v M i P
3.2.2 10,1% +4:2% + 29,.8% + 11,7% IM adding correct values L2
~558% vCA 1CA correct percentage E
(2)
vM D
3.2.3 10%-6,2% vRT 1M subtracting L2
=3,8% YCA IRT correct values E
1CA correct percentage
3)
vRT IRT correct percentage D
324 10’0 x253 335900 YMA IMA multiply with correct IMZ
value
vCA
=75 494 098,2 1CA correct number
~ 75500 000 vR IR correct rounding
“4)
[29]
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QUESTION / VRAAG 4 |35 MARKS]

Qv Solution/Oplossing Explanation/Verduideliking T/L
vRT i F
411 | 2(15620)+ 15 148 vM }&Ta?;‘ilfg"gfr‘;‘:fgefee by2 11
=R46 388LCA 1CA correct total M
3)
D
4.1.2 1174 360;475/051; 175 697; 176 640; 178 000; IM arranging values in order | L2
185020:T9F181; 194 148; 224 620 vM 1A finding median E
Median / Mediaan =178 000 VA 2
D
4.1.3 Mean / Gemiddeld = w YMA IMA adding correct values to Ii/f
_ 1388637+B R1 388 637
R172093 = 9 YMA IMA concept of mean
1S multiply by 9 and subtract
(R172093 x 9)-R1388637=B § B iretlvalhe
B =R160200 vCA 1CA mean
(4)
v A P
4.14 4 <100 1A numerator L2
9vA 1A denominator E
=44,44% YCA 1CA correct percentage
3)
v'SF r
4.1. 178 000-164 470 ituti L2
5 % increase / verhoging= <100% ISF correc.t substitution iy
164 470 , A 1A denominator
=8,2264 vCA .
1CA correct increase
~ §,2vR .
’ IR correct rounding
4)
F
4.1.6 75 xR176 640 YMA IMA multiplying correct value ]h_/lz
100
by 7,5%
=RI13 248
vM IM adding values
~R176 640+R13 248
1CA correct fee
=RI189 888 v CA
OR OR
5 “MA VRT i
xR176 640 IMA multiplying 107,5%

100
=R189888 vCA

1RT correctrvalue

1CA correctfee
3)
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Qv Solution/Oplossing Explanation/Verduideliking | T/L
| VYA -~ E
4.1.7a | Money that Diego earned on an investment over a 2A definition L1
certain period of time at a certain rate. / Geld wat E
Diego op 'n_belegging oor 'n sekere tydperk teen 'n
sekere koe¥sverdien het.
2)
F
4.1.7b | 1*" year [jaar: L4
- 0
1300 *R150 000 YMA IMA calculating 9,55% M
1 A interest 1 year
=R14325 YA
Total after 1 year / Totaal na I jaar:
R150 000 + R14 325
=R164 325 vCA 1CA first year
9 months / maande:
R164325%2 x v
x X —_—
100 12 MA IMA calculating 9 months
=RI11 769,78
Total after 1 year, 9 months / Totaal na ljaar 9
maande:
R164 325 + R11 769,78
= vCA
R176 094,78 1CA total
Crawford College 2023 = R178 000
v i) ; ;
No, statement incorrect / Nee, stelling nie korre 10 verification
OR OR
1* year / jaar: _
A 1A calculating 1,0955
=RI164325 vA 1A first year
Interest rate for 9 months/ Rentekoers vir 9 maande: ]
9,55% x9+12 1A calculating 7,1625%
=7,1625% VA
1,071625%xR 164 325
—R176 094.78 ¥ CA 1CA total2™*year
Crawford College 2023 = R178 000
No, statement incorrect / Nee, stelling nie korrek ¥'O 10 verification ©)
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Qv Solution/Oplossing Explanation/Verduideliking | T/L
v A v A v A F
4.2.1 _ _ 1A fixed cost L2
Cost / Koste=R2 000 + R5,06(d — 200km); 1A rate per km M
where d =/distance / waar d = afstand 1A difference in km
3)
vSF I SF substitution F
4.2.2 B L4
Alama cost / koste = R2 000 + R5,06 (944 — 200) D
=R5764,64 vCA 1CA alama car cost
Enterprise cost / koste = R6,15 x 944 v'SF 1SF substitution
=R5805,60 YCA 1CA enterprise cost
No, Alama 1s more cost effective / Nee, Alama is die 10 verification
VO
mees ekonomieste (5)
[35]
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Qv Solution/Oplossing Explanation/Verduideliking | T/L
D
5.1.1 Manchester City v'v'RT 2RT correct team L1
2 | E
VA P
5.1.2 i 1A correct numerator L2
10 vA 1A correct denominator E
=0,6 YCA 1CA decimal
3)
D
5.1.3 M . . L3
19 100 000; 19 300 000; 27 100 000; 30 200 000; 1M arranging values in order M
40 200 000; 53 000 000; 72 700 000; 179 000 000;
364 000 000; 486 000 000
Q1 =27 100 000 VA 1A finding Q1
Q3 =179 000 000 vA 1A finding Q3
IQR/IKO=Q3-Ql
=179 000 000 —27 100 000  'SF 1SF substituting into formula
=151 900 000 vCA 1CA correct IQR
=152000 000 “R IR correct rounding
[omitting millions max 5]
(6)
F
5.14 0,051947US$ = R1 IRT correct salary L3
vRT 1MA exchange rate concept D
55000000 1
35000000 = =55 o vMA 1A correct amount
=RI1 058 771 440,12 A
OR OR
1 US$ = R19,250546
YRT 000 000 19950546 IRT correct salary
55000 000§ = = — 0 YMA IMA exchange rate concept
=R1 058 780 030 A 1A correct amount
|omitting millions max 1)
A3)
An amount of money that taxpayers can subtract F
5.2.1 directly from the taxes they owe, according to their L1
age. / vV A 2A correct definition E
‘n Bedrag geld wat belastingbetalers direk kan aftrek
van die belasting wat hulle skuld, volgens hul
ouderdom.
2)
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F
5.2.2 | Annual tax / Jaarlikse belasting L4
VA 1A correct tax bracket D
—R115762 + f_oi)(R627 010 — R488 700) v'SF ISF correct values in formula
=RI115762 # %{RBS 130)
=R115 762/+R49 791,6
1CA correct value
= vCA
R165 553,60 vMA 1MA subtract rebate values
Rebate / Korting = R165 553,60 — (16 425 + 9 000)
=R140 128,60 vCA 1CA simplification
Medical credits / Mediese krediete:
R140 128,60 — 12 (R694) vMA IMA subtract medical credit
=R131 800,60
Per month / Per maand = w
=R10983,38 vCA 1CA monthly tax
Statement not valid / Bewering is nie geldig 10 verification
(8)
F
323 They receive 3 rebates. / Hul kwalifiseer vir 3 kor:;i;‘gv L4
' " | 20 opinion M
OR
vvO
Their total rebate is higher. / Hul totale kortings is hoér. ?)
F
5.2.4 | Gross annual salary 2021/Bruto jaarlikse salaris 2021 IMA divide by 1,058 L2
_ R677 848,65 D
1058 vMA 1CA correct salary
=R640 688,71 ¥ CA
OR OR
Gross annual salary / Bruto jaarlikse salaris
— R677 848,65 IMA divide by 105,8%
058,
100
= R640 688,71 vCA ICA correct salary
(2)
28]

TOTAL/TOTAAL: 150
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